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RESERVE ESTIMATE - GAS RESERVOIR

company: _ HARNACAN PETLOLE L1 (oEFWELL & NO.: _ jAKN -RET- Cod  No ]

LOCATION: E — (9 — 2] — 2L,

FIELD _(CATC LA DEAL: MOLLo W _ RESERVOIR MCERKCO L)

RESERVOIR DATA

INITIAL BHP 4592 +14.65 = 47 psig
ABANDONMENT BHP 550 +14.65 = =/ psig
BH TEMPERATURE (O + 460 = A1) ORr _
GAS GRAVITY & ;o Fe 7] , Tc 35%
oG - @ = 07
F =
e - Bp=
@RW= 055 SW'= =y
THICKNESS
ORIG g: P =P = (4597) = ( .85/, T = = ((as) = [T3x c.8,=_ . GLS
P, (L) T, (35%)
ABAND 2:P_ = (5i5) = 942, T,= () =_[T732.". 2 = 75 A
(671) : ( )
Bgo = 35.35 P = 35.35 (4597) = 27/)¢/ , SCF/FT3
2o T (es) (L)
Bga = 35.35 P = 35.35 (S505) = 33,77 SCF/F13
22T (959 (Lae) -
’ A\ Bg = ETA LA SCF/FT
ULTIMATE RECOVERY
= 43.560 x @ x (1-SW) xABg x Acres x Ft.
= 43.560 (,07)(1-.21) (309 ( X ) ( }4) = ¢ 1D coc MCF X = 745 acwo
= 43.560 (- )(1-. ) ( ) ( ) ( ) = MCF
= 43.560 (. )(@-. ) ( ) ( ) ( ) = MCF
= 43.560 () fl=. ) ( ) { ) ( ) = MCF
EEFOREZ EX/VAINER STAMETS
OiL CONEE VAT o TOTAL RESERVES = ' MCF

Dl o
Chliie_ €272 _bind diee
Stimiel by rZ}(QPWW
Hearins Doie__ 42 = 2='2&

Lagc. ’Www/é/u S veans = 3257




